
DEFENSIVE AND COMPETITIVE BIDDING LEADS AND SIGNALS 
WORLD BRIDGE FEDERATION 

CONVENTION 
 CARD 

OVERCALLS[STYLE;RESPONSES;1/2LEVEL;REOPENING] 
OPENING LEADS STYLE 

 LEAD IN PARTNER’S SUIT 

1/1=8-16HCP, , 2/1=10-18HCP, SUIT 4 4 

RESP: Cue=Forcing New suit=NF 1NT=8-11 HCP NT 4th 4th 

Jump to 2NT=12-14HCP SUBSEQ Same as above Same as above CATEGORX: Green 

 OTHERS: lead Hi from xxx if raised, lead 9/10=0 or 2 higher if raised NEBO:Chinese Taipei EVENT: All 

 LEADS PLAYERS: Hsiang -Jul Chang and Yi- Cheng Ke 

INT OVERCALL(2ND/4TH LIVE;RESPONSES;REOPENING) 
LEAD VS. SUIT VS. NT 

SYSTEM SUMMARY 
A AKx,Ax AKx 

2nd Seat: 15-18HCP, SYS ON K AK,KQx,Kx AKJTx,KQT9x,ASK UB/CT 
GENERAL APPROACH AND STYLE 

4th Seat: 12-15HCP,SYS ON Q QJx,Qx KQxx,QJx,ASK ATT 

JUMP OVERCALLS(STYLE;RESPONSES;UNUSUAL NT) 
J KJTx,JTx,Jx HJTx,JTx Natural with 5-cards major opening,  

10 K109x,109x,Jx HT9x,T9x Many ART Raises， 

Pre 9 9x H98x,9xx 1NT=15+-17HCP, BAL, Shape off OK 

Unusual 2NT HI-x Sx Sxx,xSxx 2 OVER 1 Responses FG 

 LO-x xxS,xxSx,xxxxS HxS,HxxS  

DIRECT AND JUMP CUE BIDS(STYLE;RESPONSES;REOPEN) 
SIGNALS IN ORDER OF PRIORITY  

  PARTNER’S LEAD DECLARER’S DISCARDING 
SPECIAL BIDS THAY MAY REQUIRE DEFENCE 

Michaels Cue=8+HCP with 2 suits(55+)  
SUIT 

1 Hi=ENCRG SAME ENCRG 

JUMP CUE BIDS:(1m)-3m=NAT 2 Hi-Lo=E SAME CTT 2: ART, STR 

(1M)-3M=Ask for stop(s) 3 S/P SAME S/P  

VS. NT (VS. STRONG/WEAK; REOPENING; PH) 
 

NT 

1 Hi=ENCRG SAME ENCRG  

2 Hi-Lo=E SAME CTT 3NT: PRE with a minor; To play in 3rd/4th seat 

VS.WK NT: CAPP：DBL=Strong; 2=one suit；2=5-5(5-4)both M’s, 3 S/P SAME S/P  

2/2:=M+m SIGNALS(INCLUDING TRUMPS)  

VS.STR NT .DON’T :DBL=one suit ; 2= 5+ and4+suit ;2: 5+and Smith vs NT, Hi-Lo in trump=want to ruff  

4+M ; 2 :5-4bothM’s ;2:5+  
DOUBLES 

X-Y-Z; MTWS 

VS. PREEMPTS(DOUBLES; CUE-BIDS; JUMPS;NT BIDS) 
Michaels cue-bid 

Lebensohl 

DBL=T/O, 2X-(DBL)-P-(Lebensohl) 
TAKEOUT DOUBLE(STYLE; RESPONSES; REOPENING) 

Unusnal NT 

2NT=16-18HCP, Nat Jacoby 2NT 

VS. ARTIFICIAL STRONG OPENGINGS 
T/O DBL THROU 4, No SUPP DBL, RESP DBL THROU 3  

  

vs 1: DBL 2M44+ 
SPECIAL,ARTIFICIAL & COMPETITIVE DOUBLES/ REDOUBLES SPECIAL FORCING PASS SEQUENCES 

1NT=2m44+ 

 Neg DBL THRU 4  

 Resp DBL THRU 3 
IMPORTANT NOTES THAT DON’T FIT ELSEWHERE 

 Support DBL THRU 2 

OVER OPPONENT’S TAKEOUT DOUBLE 
  

  
 

PSYCHICS: RARE 
2NT=4+fit,inv.JUMP NEW SUIT=PRE.   1X=F1   2X=NF 

 

 

RBL=10+ pts, implies no fit  
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Description  

 

Responses  

 

Subsquent auction  

 

Passed hand 

bidding  

 
1 

  

3 

 
4 

 

12-21 

NT=8-10;2NT=11-12 3NT=to play 
1X=Nat F1;1 3+ 

2= Reverse Minors,3=weak 5+;2X=Pre 

1 - 1X - NT（1NT=12-14,2NT=18-19）  

1 - 1NT - NT（2NT=18-19,3NT=To play 

1 - 1M - 2NT –? 3=force to 3;3=GF;SJS=5+,19+; JS=6+,15+-18  

1♦-1M-1NT-? 2 Way Checkback 

1♦-1♥-1♠-? XYZ Convention 

 

 
1 

  
3 

 
4 

 
12-21 

1X=Nat F1 

2=12+,4+; 2= Reverse Minors 3=invite to 

3NT ;3=weak5+ 

2X=Pre   

Almost Same as 1 Fit-showing; 

1♥/1♠ 
  

 

5 
 

4 
12-21 1NT=5-12HCP，semi-forcing；2/1=FG;4♥/♠=To play 

2♠=PRE;3/= Bergen ; 2NT=Jacoby 

1♥-3♠/4/4=(♠//SPL) ;1M-3M=Pre 

1♠-3♥/4/4= (♥//SPL) 

1♥-1♠-2NT=♥6♠3, Max 
1♥-1♠-1NT-?, 2 Way Checkback 

Fit Showing 

Two Way Re-Drury 

2/1=NAT,INV 

 
1NT 

    
15-17  

2=Stayman;2/2=Transfer;2=minor stayman 

2NT=Transfer to 3 33= AKQ Invite 3NT 

4=Ask A ;4/4=Transfer to 4/44NT/5NT=QUANT    

1NT-2-? 2=15 no 5 Major; 2=15 5+; 2=15 5+ 

2NT=16-17 no 5 Major; 3=16-17 5+; 3=16-17 5+ 

1NT-2−2NT-? 3=ask 4 Major 

 

2  
 

4 
22+ or 8.5 trick 2=Waiting;2/2/3/3= AKQ 5+suit  

  

2 - 2 -2NT=22-24/3NT=25-27/4NT=28-30 

2 - 2 - 2NT-?3=puppet stayman 

 

2 
 

6 
 

5-10,6
+

 

New suit =F1 

2NT=Ogust  

2NT- 3=// 6+min &poor suit 
3=// 6+min&good suit 
3=// 6+max &poor suit 
3=// 6+max &good suit 

 

2  6  

2  6  

 
2NT 

    
20-21,bal 

 
3= puppet stayman ; 3/3=Transfer/ 

2NT-3−=no 5 Major ;3/3=suit 

2NT-3−-? 3=4+;3=4+ 

 

3/3 
    

 
Preemptive, 

4/4=PRE 5/5=To 
play 

  

3/3 
   4/4=To play 

3NT  
  Gambling  4=P/C;4/4/4=To play 4NT=Inv 

to 6/ 

  

4    Preemptive,8+    

4    Preemptive,8+    

4    Preemptive,7+ 4=RKCB    

4    Preemptive,7+ 4NT=RKCB    

4NT    55+minor Pre.  HIGH LEVEL BIDDING  

5  8  5-11,8+  RKCB 1403, Blackwood Gerber 04123, Cue，5NT GSF，SPL 

5  8  5-11,8+    

 

 


